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MODEL QUESTION PAPER
Class-VIII (Session : 2021-22)
L Subject-Social Science —’
(Hindi and English Version)
Time Allowed ; 3 hrs Maximum Marks : 100
Instructions ( FrE91):
1. aft g e €

All questions are compulsory.

o T T 40% TGS T 60% TSRO T I8 0¥ |

The question paper consists of 40% objective type and 60% descriptive
questions

3. 30% @l ge faed e v H el 7w 9

30% deleted syllabus is not included in the question paper.

)

Yr-& (SRS 99T )
Part-A (Objective Type Questions)
1. wgfamed e (WE IW g foe) 1x10=10

Multiple Choice Questions (Select the right answer):
() eifreE = 9o el g3/

@ =11707 (il) €7 1705

(i) T 1708 (iv) T 1706

When did Aurangzeb die?

(i 1707 AD (i) 1705 AD

(i) 1708 AD (iv) 1706 AD
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(i) WA ¥ T TER-SE B 87

() Seree (ii) SRS
(i) IRA BT (iv) BTfEm
Who was the first Governor-General of India?
1) Wellesley (i1) Dalhousie
(i) Warren Hastings (iv) Harding
(i) ST GHIS F HEAIE O-
() T UH HiET 1 (ii) $verves farmarm
(Gii) ST TAE, Wl (iv) HeTe Tt

Founder of Arya Samaj was:
(1) Raja Ram Mohan Roy (i) Ishwar Chandra Vidyasagar
(i) Swami Dayanand Saraswati (1v) Mahatma Gandhi

Gv) Tercan =1 5= fopm wEra | g7 A1?

G e (il) Hoe
(i) = (iv) 52l
In which community was Birsa born”?
(i) Gonds (11) Santhal
(i) Baigas (iv) Munda
(V) T EEEE R
() g Sl (ii) ehree
(i) werferH (iv) TR T
Renewable Resources are:
(i) Windenergy (i) Coal
(i) Petroleum (iv) Natural Gas
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(vi) Tafesme=t &1 =i §-

() SR S Ed (i) T 9T

Gii) Yem el st afod gre (iv) we-Ee | wfssdl w1 TETEA
(vii) Forear # it = emOf SEHES <

() aifefaa (i1) Toreel

(i) T (iv) Temm=a

Leading producer of copper in the world:

(i) Bolivia (i) Chile

(i) Ghana (iv) Zimbabwe
(vili) T W % T i FH &

G 5@ (i) 4 T4

(i) 6 (iv) 394

Duration of Rajya Sabha members is:-

(i) Fiveyears (11) Four years

(i) Six years (iv) Three years
() fermeet wRer ' e s Hie-

® 2 (i) 3

(i) 4 (iv) 5

Lok Sabha seats in Himachal Pradesh:

@ 2 (ii)3

(i) 4 (iv) 5
(x) TR B AT Y Sie 3 1 AR B €

G 2196 (i) 18 T8 ¥

Gii) 2599 H (iv) 16 a8 |
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Citizens of India have the Right to vote:

@ From 2l years (11) From 18 years
(i) From 25 years (iv) From 16 years
2. FrefafEd geAl & I AT 1%10=10

Answer the following questions:

) mﬁm@mmﬁwﬁaé?
When was the first cotton Mill established in India?

(i) wifafehaa & HEATTh wH 4?

Who founded Shantiniketan?

(iid) s =1 ey YA © e AR W 587
When did India get freedom from the British Rule?

() 219 Gear i oar?

Who was Tipu Sultan?

(v) ‘gTen ' Rl wed €7
What does Golden Fibre refer to?

(i) TS g w5 g EiRe
“ Sunrise Industries’ is associated with which industry?

(vil) fvs T ey s SEEn R 3w # Y
Which is the most populated country of the world?

(i) T 1 TATS e wel e §7
Where is the Supreme Court of India situated?

(ix) ﬂﬂ?ﬁuéﬁaﬁﬁmaﬂgaﬁ%zﬁ%ﬁw‘ﬁwﬁmiﬁ%?
Indian Constitution provides guarantee to education to which age
group of children?

() s T e g
When did Bhopal Gas Tragedy take place?
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3. figa wam 9Rw:- 1%5=5
Fill in the blanks:

@) irarer T AR A Ty =1 ToaTs g A1
................ gas was leaked in the Bhopal Gas Tragedy.
(i) 9Ra =t F TR S e w AR T

falt i

(i) A o T TLYM oo @ |

i, is sitting President of India.

(iv) TG TAAR o e 9 ol ol |

The Sword of Tipu Sultan was made Of ...............
(v) SR AT T BT oo Eicall
i founded the Brahma Samaj.
4. el SIS IE: 1x5=5
Match the Column:
G) IR FEES 1942
(i) Gar= A FrSitet
(iii) FTHI 1950
(v) e B2 A= et T AT
(v) WeTed T W geg + feel
(i) Union Carbide 1942
(i) Supreme Court Brazil
(iiiy Coffee 1950
(iv) QuitIndia Movement Bhopal Gas Tragedy

(v) Deathof Mahatma Gandhi New Delhi
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5. Wl A e S 1x4=4
Write True or False:
() Sferateren ST TR 13 FHA 1919 T g |
Jallianwala Bagh Massacre incident happened on 13 Apnil 1919.
(i) A T ERfaE & €
Nylon is a natural fibre.
(i) ST 1 WG ] AR el W6

Osaka is known as Manchester of Japan.
(iv) ST TR eI e € |
Water conservation is not necessary.
yrr-@ ( Afaerg Ty 9T )
Part-B (Very Short Answer Type Questions)
6. v wAl & S SIS 2x10=20
Answer the following questions:
() SET FT O cresar W s § TE A o, 5 St A
U RSP
What was the demand of Lakhsmibai of Jhansi that was refused
by the British?
(i) SR = E?
What is Jamdani?
(i) 1940 ¥ Hikery T o e B w1 A/ H 0 i
What did the Muslim League resolution of 1940 ask for?
(iv) TS AN 7 R o7

What was the role of the Planning Commission?
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(v) TR ¥R W T P I €7
What do you understand by the word ‘marginalisation’?

(vi) eflemr @ 87
What is Secularism?

(vil) e wee B fwad TeA €7 39% AW o)

How many houses are there in Indian Parliament? Name them.

(vifl) ST frifrs = §7
What are Population Pyramids?

(ix) ‘ST’ Te% T A Ad ©?

What is meant by the term ‘Industry’?
(x) a1 HiY T E?
What is Plantation Agriculture?
7. T ol & TR - 3% 6+18

Answer the following questions:

() e SRR g o w e o T €7 A FO S
List two reasons why Adivasis arc becoming increasingly
marginalised?

i) fordeft Sl ot ura § o H@H Ger ¥ A wE &7
What are the advantages to foreign companies in setiing up pro-
duction in India?

(i) TR fearl 1 H & fommm # o g S AR wAl B 7
How does the Government help the farmers in the development of

Agriculture?

(iv) T T IAM WrE: Y ST A AT Fel S T i 7
Which industry is often referred to as the backbone of modern
industry and why?
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9.

(v) ETean et s B gkdewed /il faaE w472
Why did Mahatma Gandhi want to teach children handicrafis?
(vi) arEfordl i T A 99 F WD @ F U FE-wE F wm
&I 47

What were the different reasons people had for not sending girls

to school?
qrT- (e I we )
Part-C (Long Answer Type Questions)

=1 g9l o TR - (FE TH) 4x2=12
Answer any three of the following:
() Trare Ffa iR To7 Hfy F erR v 1)

Distinguish between subsistence farming and intensive farming.
(i) T ST AHE HEA dred w1 Swen w1 A

Why did Gandhiji choose to break the sult law?
i) Twr @l T foF R e srmare o el e wwEl

Why are most of the Private Hospitals and Private Schools 16-

cated in major cities and not in the lowns or rural areas?
(iv) 9| T geE § oS 9 H=1 fasfag g
Why cotton textile industry rapdily expanded in Mumbai?
e et % s E - 5%2=10
() SEEl g H AREE wiE wem 3w ued b ger?
Why did the Indian iron and metting industry decline in the nineteeth
century?
ar
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1937-47 &I 34 g2l T 9= Y 97 wenasy i
= gaT?
Discuss the events between 1937-1947 that led (o the creation of
Pakistan.

(i) et ereraifyes <w @l w@iaym F1 wew =@ g §7
Why does a democratic country need a Constitution?

qa ea

I A9 9 91 | HeHd € i anfels aifimmey ein gt
BRI Ty § e gy 82
Would you agree with the statement that economic marginalisation
and social marginalisation are interlinked? why?

-8 ("= )
Part- D (Map)
10. (=) F=fafEa =1 99E % @ wafas § - 1%3=3
@) Tt (i) femmerer wRw
(iii) I AT
(a) Locate the following in the outline map of India;
(1) Delhi (i) Hirnachal Pradesh
(1) GangaRiver
(W) =fefaa =1 fava & @ weafas 0 9 1x3-3
(i) TE= memrmmR (i) smefem
(i) =TS

(b) Locate the following in the outline map of world:
(i) Indian Ocean (11) Australia
(i) Nepal
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